Figure S1(a): Probability distribution function for the displacement of GFP in 10 ns. The green curve
in the figure shows the Gaussian fit of the probability distribution function.
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Figure S1(b): Probability distribution function for the displacement of GFP in 100 ns. The green curve
in the figure shows the Gaussian fit of the probability distribution function.

2000

8000 [

- histogram |

Gaussian fit | A

7000

&000

5000

4000 r

frequency

3000

2000 r

1000

-10 a0 10 20 30 40 50 &0 70 80

Displacement { 4") in 100 ns



